Min. 5 Fasteners "G”
per Panel.

NOTE: USE ON SLOPES
LESS THAN 2:12.

NOTE: REQUIRES FLOATING RIDGE,
SHED RIDGE, HEADWALL, AND HIP.

Field Lock
Valley Detail (Fixed) Scale: 3" = 10"

Legend

As Supplied By ATAS:

1 — ATAS FLS Panel

2 — Anchor Clips

4 — Painted Pop Rivets
29 — Valley Pan

As Supplied By Others:

A — 30# (Minimum) Felt with Rosin Paper

A1 — 40 MIL Ice & Water Shield

B — Top of Roof Deck or Insulation

C — Structurals

D — Trim Boards

E — #12 x 1” Wafer Head Screws

F — Fascia Trim ( May be fabricated/supplied by ATAS upon request).

G — Appropriate anchor screws with washer sufficiently long enough to fully ATAS INTERNATIONAL, INC.

penetrate the solid substrate (Some types/styles available from ATAS.) Allentown PA

L — Plywood 610-395-8445

U — Butyl Tape Sealant Mesa AZ

WS — Wood Shim 3/8" or 1—3/8" 480-558-7210

x _ . .

Indicates color side. TITLE FLS Valley (Fixed) - ply
pe ! FLS Valley (Fixed) - ply SCALE 3"=1'-0"
Rev. Drawn
Nc;I. Revision Date By Description of Revision gsAWN DAS | paTE 3-6-06 Q\I;PR. JEB [DATE 6-1-06
-1- FLS Valley (Fixed) - REVISION REVISION APPR. APPR.

0 6-1-06 DAS alley (Fixed) - ply o XXXX| ReVEON - Mm/DDrYY | 28 XXXX|APFR- MM/DD/YY




Legend
As Supplied By ATAS:

A 1 — ATAS FLS Panel
G Al 2 — Anchor Clips
U L 4 — Painted Pop Rivets
—__—====== 5 — Eave Trim
= __=====— As Supplied By Others:
5 == A — 30# (Minimum) Felt with Rosin Paper
A1 — 40 MIL Ice & Water Shield
L B — Top of Roof Deck or Insulation
WS C — Structurals
XE D - Trim Boards
E - #12 x 1" Wafer Head Screws
E1 — #12 x 1-1/4" Hex Head Screws
F — Fascia Trim ( May be fabricated/supplied by ATAS upon request).
G — Appropriate anchor screws sufficiently long enough to fully penetrate
N\ NOTE: FOR USE ON . ’g}e soI(;d substrate (Some types/styles available from ATAS.)
SLOPES 2:12 OR LESS. — Fywao
F N U — Butyl Tape Sealant
D NOTE: REQUIRES FLOATING RIDGE, WS — Wood Shim
SHEDRIDGE, HEADWALL, AND HIP.
* — Indicates color side.
l"
176
11” — — 111)
16 16
%" 6 [
— \/\/ /\/\ 1
GieT oo ole
Field Lock \ :o
Fixed Eave Detall Scale: 3= 1-0° 23
w/ Wall Panel 5 T
SEAM EAVE EDGE OF PANEL SEAM $ t
TYPICAL EAVE FASTENER LAYOUT/SPACING %”
ATAS INTERNATIONAL, INC.
Allentown PA
610-395-8445
Mesa AZ
480-558-7210
TITLE FLS Eave w Wall (Fixed) - ply
AT FLS Eave w Wall (Fixed) - ply SCALE 3"=1"-0"
D
Revision Date ';;V” Description of Revision gsAWN DAS (paTE 3-6-06 Q:?PR' JEB |DATE 6-1-06
6-1-06 DAS | FLS Eave w Wall (Fixed) - ply REVISION XXXX| REVISION MM/DD/YY [ APPR XXXX|ARFR- MM/DD/YY




Al
Legend
As Supplied By ATAS:
1 — ATAS FLS Panel
L E1 2 — Anchor Clips
FIELD HEM 4 — Painted Pop Rivets
ROOF PANEL 5 — Eave Trim
\ 65 — Offset Angle
WS .
5 As Supplied By Others:
A — 30# (Minimum) Felt with Rosin Paper
A1 — 40 MIL Ice & Water Shield
xE NOTE: FOR USE ON SLOPES B — Top of Roof Deck or Insulation
2:12 OR GREATER. C - Structurals
D — Trim Boards
NOTE: REQUIRES FIXED RIDGE, E — #12 x 1” Wafer Head Screws
A SHEDRIDGE, HEADWALL AND HIP. E1 — #12 x 1—-1/4" Hex Head Screws
4 l F — Fascia Trim ( May be fabricated/supplied by ATAS upon request).
F D G — Appropriate anchor screws sufficiently long enough to fully penetrate
the solid substrate (Some types/styles available from ATAS.)
L — Plywood
U — Butyl Tape Sealant
I V — Eave Plate
* — Indicates color side.
) ATAS INTERNATIONAL, INC.
Field Lock Allentown PA
Floating Eave Detail 13" = 10" 610-395-8445
g ta Scale: 3" =1'-0 Mesa AZ
480-558-7210
TITLE FLS Eave w/ Wall (Floating) - ply
El\ffﬁ'g‘/ FLS Eave w/ Wall (Floating) - ply SCALE 3"=1"-Q"
Rev. Drawn
Neov. Revision Date By Description of Revision g?AWN DAS | DATE 3-6-06 Q\F(’PR' JEB |DATE 6-1-06
-1- FLS E | Wall (Floati - REVISION REVISION APPR. APPR.
0 6-1-06 DAS ave w/ Wall (Floating) - ply o, XXXX| SeTE'ON - MM/DDIYY | 20 XXXX[AFR- MM/DDIYY




1/2"

- -— :
* 3/8" I— = l .
vl L

-

/4 1/2 O.H./

FLASB0 COUNTERFLASHING (29 - FLA410 SIDEVALL TRIM

»*
|2 1/2"

2 11/16"

- FLA212 'Z* CLOSURE

®

H\ .
4 22
. Legend
23 As Supplied By ATAS:
1 - FLSXXXFleld Lock Seam Panel
8 K 2 - Anchor Clips
8 - “Z* Closure
1 22 - Counterflashing
23 - Sidewall Trim
2 Q
A As Supplied By Others:
u A - 30# (Minimum) Felt with Rosin Paper
Al - 40 MIL Ice & Water Shield
B - Top of Roof Deck or Insulation
o S | C - Structurals
D - Trim Boards
E one_ E - #12 x 1 Woafer Head Screws
per clip E1 - #12 x 1-1/4’ Hex Head Screws
G - Appropriate anchor screws sufficlently long enough to fully penetrate
the solid substrate (Some types/styles avallable from ATAS)
L E1 1 H - Approprioate Type Sealant
J - Palnted Pop-Rivets
WS 2 K - Plain Pop-Rivets - Not to penetrate the substrate.
E1 L - Plywood
@ - Masonry Walls
R - Reglets
U - Butyl Tape Sealant
WS - Wood Shim 3/8° or 1-3/8
D
) ATAS INTERNATIONAL, INC.
Flelq Lock Seam Panel ' Allentown PA
Ending Rake/Sidewall Detail - scale: 3" = 1-0" 610-395-8445
Mesa AZ
plywood 480-558-7210
TITLE FLS Ending Sidewall (Fixed) - ply
EX_VSNNCS" FLS Ending Sidewall (Fixed) - ply SCALE 3"=1'-0"
Rev. D
Neo. Revision Date g}‘fm Description of Revision gsAWN DAS [paTeE 3-6-06 Q\F('PR’ JEB | DATE 6-1-06
-1 FLS Endi i i - REVISION REVISION X :
0 6-1-06 DAS nding Sidewall (Fixed) - ply N XXXX [ FEVE MM/DD/YY | APPR XXXX | APPR MM/DD/YY




22 \;I

Legend

H As Supplied By ATAS:

L 1 — ATAS FLS Panel

2 — Anchor Clips

4 — Painted Pop Rivets

8 — "Z” Closure

13 — Neoprene Closure

22 — Counterflashing

25 — Headwall Transition (Fixed)

As Supplied By Others:

— 30# (Minimum) Felt with Rosin Paper

40 MIL Ice & Water Shield

— Top of Roof Deck or Insulation

Structurals

— Trim Boards

— #12 x 1” Wafer Head Screws

12 x 1-1/4" Hex Head Screws

— Fascia Trim ( May be fabricated/supplied by ATAS upon request).
— Appropriate anchor screws sufficiently long enough to fully penetrate
the solid substrate (Some types/styles available from ATAS.)

— Appropriate Sealant

Plywood

— Butyl Tape Sealant

S — Wood Shim 3/8" or 1-3/8"

mmMoow>>
| |

N
|

NOTE: USE ON_SLOPE
E1 2:12 OR GREATER.
NOTE: REQUIRES FLOATING
EAVE AND VALLEY.

sSCrx ©™M
|

*
|

Indicates color side.

Field Lock ATAS INTERNATIONAL, INC.
Headwall Detail (Fixed 3" = 10" Allentown PA
| ( ) Scale: 3" =10 610-395-8445
plywood Mesa AZ
480-558-7210
TITLE FLS Headwall (Fixed) - ply
EI\(VEGNNg/ FLS Headwall (Fixed) - ply SCALE 3"=1"-Q"
Rev. Drawn
No. | Revision Date By Description of Revision gsAWN DAS (paTe 3-6-06 QEPR' JEB | DATE 6-1-06
0 6-1-06 FLS Headwall (Fixed) - pl REVISION REVISION APPR. APPR.
DAS wall (Fixed) - ply e XXXX [ REVE MM/DD/YY | AP XXXX | APPR MM/DD/YY




NOTE: USE ON SLOPES
LESS THAN 2:12.

NOTE: REQUIRES FIXED
EAVE AND VALLEY.

HEXHEAD SCREW W/
SEALING WASHER

8

Legend

As Supplied By ATAS:

1 — ATAS FLS Panel

2 — Anchor Clips

3 — Optional Metal Seam End Plugs
4 — Painted Pop Rivets

8 — "Z" Closure

13 — Neoprene Closure

22 — Counterflashing

25 — Headwall Transition (Floating)

As Supplied By Others:

A — 30# (Minimum) Felt with Rosin Paper
A1 — 40 MIL Ice & Water Shield
B — Top of Roof Deck or Insulation
C — Structurals
D — Trim Boards
E - #12 x 1" Wafer Head Screws
F — Fascia Trim ( May be fabricated/supplied by ATAS upon request).
G — Appropriate anchor screws sufficiently long enough to fully penetrate
the solid substrate (Some types/styles available from ATAS.)
H — Appropriate Sealant
L — Plywood
R — Reglet
U — Butyl Tape Sealant
WS — Wood Shim 3/8” or 1-3/8"
* — |ndicates color side.
Field Lock ATAS INTERNATIONAL, INC.
- n Allentown PA
Headwall Detail (Floating) Scale: 3" = 10" 610-395-8445
Mesa AZ
480-558-7210
TITLE FLS Headwall (Floating) - ply
A FLS Headwall (Floating) - ply SCALE 3"=1"-0"
Rev. Drawn
Neov. Revision Date By Description of Revision g\?AWN DAS |paTE 3-6-06 Q:?PR JEB | DATE 6-1-06
0 6-1-06 DAS | FLS Headwall (Floating) - ply REVISION XXX | REVISION - MM/DD/YY [ APPR- XXXX| APPR- MM/DD/YY




* VARIES WITH ROOF PITCH 12

Legend
Supplied By ATAS:

3

1 — ATAS FLS Panel
2 — Anchor Clips
4 — Painted Pop Rivets
12 — Hip Cap (Fixed)
As Supplied By Others:
A — 30# (Minimum) Felt with Rosin Paper
A1 — 40 MIL Ice & Water Shield
B — Top of Roof Deck or Insulation
C — Structurals
D - Trim Boards
E - #12 x 17 Wafer Head Screws
E1 — #12 x 1-1/4”" Hex Head Screws
F — Fascia Trim ( May be fabricated/supplied by ATAS upon request).
G — Appropriate anchor screws sufficiently long enough to fully penetrate
the solid substrate (Some types/styles available from ATAS.)

H — Appropriate Sealant

NOTE: FOR USE ON L — Plywood

: . U — Butyl Tape Sealant
SLOPES 2:12 OR GREATER T - B
NOTE: REQUIRES FLOATING WS — Wood Shim 3/8" or 1-3/8

EAVE AND VALLEY.

*

— Indicates color side.

Field Lock
Hip Detail (Fixed) Scale: 3" = 1'-0"
ATAS INTERNATIONAL, INC.
Allentown PA
610-395-8445
Mesa AZ
480-558-7210
TITLE FLS Hip (Fixed) - ply
DG NO.! FLS Hip (Fixed) - ply some  3=10"
Rev. Drawn
No. | Revision Date By Description of Revision gSAWN DAS | pATE 3-6-06 QsPR' JEB |pATE 6-1-06
0 6-1- FLS Hip (Fixed) - pl REVISION REVISION APPR. APPR.
1-06 DAS ip (Fixed) - ply NO. XXXX DATE MM/DD/YY BY XXXX DATE MM/DD/YY




12" MAX.

12A

Legend

As Supplied By ATAS:

1 — ATAS FLS Panel

2 - Anchor Clips

4 — Painted Pop Rivets
12A— Hip Cap (Floating)

Supplied By Others:

— 30# (Minimum) Felt with Rosin Paper

— 40 MIL Ice & Water Shield

— Top of Roof Deck or Insulation

— Structurals

— Trim Boards

- #12 x 1" Wafer Head Screws

— Fascia Trim ( May be fabricated/supplied by ATAS upon request).

— Appropriate anchor screws sufficiently long enough to fully penetrate
the solid substrate (Some types/styles available from ATAS.)

— Plywood

— Butyl Tape Sealant

— Support Plate

— 3Wood Shim 3/8”" or 1-3/8"

%>z

* VARIES WITH ROOF PITCH NOTE: USE ON SLOPES
LESS THAN 2:12.

NOTE: REQUIRES FIXED
EAVE AND VALLEY.

=s<cr oTMmoow

w

*

— Indicates color side.

Field Lock
Hip Detail (Floating) Scale: 3" = 1'-0"
ATAS INTERNATIONAL, INC.
Allentown PA
610-395-8445
Mesa AZ
480-558-7210
TITLE FLS Hip (Floating) - ply
EIY_VSNNC?‘/ FLS Hip (Floating) - ply SCALE 3"=1"-0"
Rev. Drawn
No. | Revision Date By Description of Revision 25’* N DAS [paTE 3-6-06 QsPR' JEB |pATE 6-1-06
0 -1-( FLS Hip (Floati -pl REVISION REVISION APPR. APPR.
6-1-06 DAS ip (Floating) - ply NO. XXXX DATE MM/DD/YY BY XXXX DATE MM/DD/YY




TAPE SEALANT

FLS ROOF PANEL
(downhill panel)

ROOF FASTENER
X\ CINCH PLATE

L%
%» \\

ROOF PANEL CLIP

(factory punched for
fasteners)

~

ROOF STRUCTURAL

INSULATION

FLS ROOF PANEL

(uphill panel)

CHANNEL

PANEL CLIP FASTENER

ENDLAP BACKER

(continuous assembly)

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

ATAS INTERNATIONAL, INC.

TITLE

FLS Panel Assembly

DWG NO./

FILE NO. FLS Panel Assembly SCALE 3"=1"-0"
Rev. Drawn
Nc:/. Revision Date By Description of Revision IZB)$AWN DAS |DpATE 3-6-06 Q\F{’PR. JEB |DATE 6-1-06
0 6-1-06 DAS | FLS Panel Assembly REVISION XXX | REVISION  MM/DD/YY | APPR- XXXX([AFPR- MM/DD/YY

DATE

BY

DATE




=

ROOF PANEL CLIP

CLIP BASE

CLIP TAB

FOR 2" ROOF PANEL
W/ 3/8" STAND-OFF

FLS ROOF PANEL

INSULATION

INSULATION
FACING

PANEL CLIP FASTENER
(two fasteners required)

ROOF STRUCTURAL

FOR 2" ROOF PANEL
W/ 1 3/8> STAND-OFF

ATAS INTERNATIONAL, INC.
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

TITLE FLS Panel Clip
DWG NO./ H n_q1 A"
FILE NO. FLS Panel Clip SCALE 3"=1"-0
Rev. Drawn
No. | Revision Date By Description of Revision gsAWN DAS |DpATE 3-6-06 Q\F(,PR' JEB |DATE 6-1-06
0 6-1-06 DAS | FLS Panel Clip REVISION XXX | REVISION. MM/DD/YY | APPR- XXXX([AFPR- MM/DD/YY

ATE BY DATE




1.1/2" 13 3/4" |3 3/4"| 3 3/4" |3 3/4-"| 1.1/2"

1/4-14
hnted /\/L\/ FIELD—LOK PANEL
W/ WASHERS | | | | ;r{_cmmq STRAP

_¢—

I 1 T
PANEL SEAM—@JL\/\ /\/\;Nﬁ/u-)

FASTENER LAY—0OUT @ SPLICE

PANEL LAP: PREDRILL AND ATTACH
W/ (4) 1/4-14 X 1 1/4” HWH SCREWS
W/ 5/8" DIA. COMBINATION WASHERS,

PER PANEL, INTO BACK—UP CHANNEL
AND FRAME SYSTEM.

Legend

As Supplied By ATAS:

1 — ATAS FLS Panel

2 — Anchor Clips

3 — Optional Metal Seam End Plugs
67 — Cinch Strap

68 — Backup Plate

3

Supplied By Others:

— 30# (Minimum) Felt with Rosin Paper

— 40 MIL Ice & Water Shield

— Top of Roof Deck or Insulation

— Structurals

— Trim Boards

— #12 x 1" Wafer Head Screws

— Fascia Trim ( May be fabricated/supplied by ATAS upon request).

— Appropriate anchor screws sufficiently long enough to fully penetrate
the solid substrate (Some types/styles available from ATAS.

— Plywood

— Butyl Tape Sealant

— Eave Plate

ASTENER MUST
PENETRATE THE FRAMING

<cr OoTMMUOW>>

*

— Indicates color side.

Field Lock
Panel Splice Detail (Fixed) Scale: 3" = 1-0"

ATAS INTERNATIONAL, INC.
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

TITLE FLS Panel Splice (Fixed)

g;{f:g / FLS Panel Splice (Fixed) SCALE 3"=1'-0"

Rev Drawn
DRAWN
No. | Revision Date By Description of Revision BY DAS

0 6-1-06 DAS | FLS Panel Splice (Fixed) zg\/ISION XXXX [R)§¥|ES|ON MM/DD/YY Qs’PR- XXXX S/'::ER MM/DD/YY

DATE 3606 |APFR JEB |pate 6-1-06




11/2" |3 3/4" |3 3/4" | 33/4" | 33/4" 11/2

i e /\J/\/ -

M AT T S oS

_¢—

N RS IR L i1
T~

PANEL SEAM—/ PANEL SEAM—/

FASTENER LAY-OUT @ SPLICE

PANEL LAP: PREDRILL AND ATTACH
w/ (4}) 1/4—14 X 3/4" HWH SCREWS
W/ 5/8" DIA. COMBINATION WASHERS,
PER PANEL, INTO BACK—UP CHANNEL.
( DO NOT PENETRATE FRAMING )

,,,,, Legend

As Supplied By ATAS:

——- 1 — ATAS FLS Panel

—— { 2 - Anchor Clips

3 — Optional Metal Seam End Plugs
67 — Cinch Strap

68 — Backup Channel

Supplied By Others:

— 30# (Minimum) Felt with Rosin Paper

— 40 MIL Ice & Water Shield

— Top of Roof Deck or Insulation

— Structurals

— Trim Boards

— #12 x 1" Wafer Head Screws

— Fascia Trim ( May be fabricated/supplied by ATAS upon request).

— Appropriate anchor screws sufficiently long enough to fully penetrate
the solid substrate (Some types/styles available from ATAS.;

— Plywood

— Butyl Tape Sealant

— Eave Plate

————FASTENER SHOULD NOT
PENETRATE THE FRAMING

<cr o-nmuomz:bg

*

— Indicates color side.

Field Lock
Panel Splice Detail (Floating) Scale: 3" = 1-0"

ATAS INTERNATIONAL, INC.

Allentown PA
610-395-8445
Mesa AZ
480-558-7210
TITLE FLS Panel Splice (Floating)
?I‘C’S'\T‘OO_ / FLS Panel Splice (Floating) SCALE 3r=1Q"
R Drawn
No. | Revision Date By Descripton of Revision o WN DAS |oate 36:06 |pPPR JEB [oate 6-1-06
i i REVISION REVISION APPR. APPR.
0 6-1-06 DAS | FLS Panel Splice (Floating) o XXXX [ SaTe MM/DDAYY | 20 XXXX | Eare MM/DD/YY




"PENCIL GROQOVE" TYPE
STIFFENING RIBS
( OPTIONAL )

Factory applied
sealant

( OPTIONAL )

Base centering
stops

L S
e i
18,’ %

2 3/8"

ATAS INTERNATIONAL, INC.
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

TITLE FLS Profile
?I\II_VEGNN(;)_ & FLS Profile SCALE 3"=1"-0"
Fr{\leinv,' Revision Date Drgy " Description of Revision gsAWN DAS | paTE 3-6-06 Qf;pR' JEB |DATE 6-1-06
0 6-1-06 DAS | FLS Profile REVISION XXX | REVISION  MM/DD/YY | APFR- XXXX([APPR MM/DD/YY




11

Hex Head Screw
w/ Sealing Washer

8

Legend

As Supplied By ATAS:
1 — ATAS FLS Panel

2 — Anchor Clips
4 — Painted Pop Rivets
11 — Ridge Cap (Fixed)
As Supplied By Others:
A — 30# (Minimum) Felt with Rosin Paper
A1 — 40 MIL Ice & Water Shield
B — Top of Roof Deck or Insulation
Field Lock C — Structurals
- - - D — Trim Boards
Ridge Detail (Fixed) Scale: 3" = 10" E — #12 x 1" Wafer Head Screws
E1 — #12 x 1-1/4" Hex Head Screws
F — Fascia Trim ( May be fabricated/supplied by ATAS upon request).
G — Appropriate anchor screws sufficiently long enough to fully penetrate
T the solid substrate (Some types/styles available from ATAS.)
L — Plywood
= U — Butyl Tape Sealant

V  — Support Plate — 18 ga.
WS — Wood Shim 3/8” or 1-3/8"
. _ . .

SEAM SEAM A Indicates color side.

TYPICAL FASTENER LAYOUT AT FIXED POINT
S FASTENERS PER PANEL

ATAS INTERNATIONAL, INC.
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

TITLE FLS Ridge (Fixed) - ply
AT FLS Ridge (Fixed) - ply SCALE 3"=1-Q"
Rev. Drawn
No. | Revision Date By Description of Revision IED“I?AWN DAS |pATE 3-6-06 é\f{’PR, JEB |DATE 6-1-06
0 6-1-06 DAS | FLS Ridge (Fixed) - pl REVISION REVISION APPR. APPR.
ge (Fixed) - ply N XXXX[ V'O MMIDDIYY | 27 XXXX|APFR- MM/DD/YY




* VARIES WITH ROOF PITCH

Field Lock

Hex Head Screw
w/ Sealing Washer

NOTE: USE ON SLOPES
LESS THAN 2:12.

NOTE: REQUIRES FIXED
EAVE AND VALLEY.

Ridge Detail (Floating)

Scale: 3" =1-0"

Legend

As Supplied By ATAS:

1 — ATAS FLS Panel

2 — Anchor Clips

4 — Painted Pop Rivets
11A — Ridge Cap (Floating)

13 — Neoprene Closure

As Supplied By Others:

A — 30# (Minimum) Felt with Rosin Paper

A1 — 40 MIL Ice & Water Shield

B — Top of Roof Deck or Insulation

C - Structurals

D - Trim Boards

E - #12 x 1" Wafer Head Screws

E1 — #12 x 1-1/4" Hex Head Screws

F — Fascia Trim ( May be fabricated/supplied by ATAS upon request).

G — Appropriate anchor screws sufficiently long enough to fully penetrate
the solid substrate (Some types/styles available from ATAS.)

L - Plywood

U — Butyl Tape Sealant

WS — Wood Shim 3/8" or 1-3/8"

*

— Indicates color side.

ATAS INTERNATIONAL, INC.
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

TITLE

FLS Ridge (Floating) - ply

R FLS Ridge (Floating) - ply SCALE 3r=1Q"
Rev. Drawn
No. | Revision Date By Description of Revision 55’* WN DAS |paTE 3-6-06 QSPR' JEB |DATE 6-1-06
0 6-1-06 DAS | FLS Ridge (Floating) - pl REVISION REVISION APPR. APPR.
ge ( g) - ply o XXXX[SETe MM/DD/YY | &5 XXXX| AEFR MM/DD/YY




Legend

As Supplied By ATAS:
" 1 — ATAS FLS Panel
Ll 2 — Anchor Clips
% 4 — Painted Pop—Rivet
> 8 — Standard "Z" Closure
13 — Neoprene Closure
17 — Shed Ridge Cap
As Supplied By Others:
A — 30# (Minimum) Felt with Rosin Paper
A1 — 40 MIL Ice & Water Shield
B — Top of Roof Deck or Insulation
C — Structurals
D — Trim Boards
E — #12 x 1" Wafer Head Screws
E1 — #12 x 1-1/4" Hex Head Screws
F — Fascia Trim ( May be fabricated/supplied by ATAS upon request).
G — Appropriate anchor screws sufficiently long enough to fully penetrate
the solid substrate (Some types/styles available from ATAS.)
NOTE: USE ON SLOPES L — Plywood
2:12 OR GREATER. U — Butyl Tape Sealant
V — Support Plate
NOTE: REQUIRES FLOATING WS — Wood Shim 3/8” or 1-3/8"
RIDGE AND VALLEY.
* — Indicates color side.
Field Lock
Shed Ridge Detail Scale: 3"=1"-0"
(Fixed) ATAS INTERNATIONAL, INC.
Allentown PA
610-395-8445
Mesa AZ
480-558-7210
TITLE FLS Shed Ridge (Fixed) - ply
AT FLS Shed Ridge (Fixed) - ply SCALE 3"=1'-0"
Rev. Drawn
Nec:’. Revision Date By Description of Revision S\I?AWN DAS | DATE 3-6-06 ésPR. JEB |DATE 6-1-06
1 FLS Shed Rid i - REVISION REVISION APPR. APPR.
0 6-1-06 DAS ed Ridge (Fixed) - ply o XXXX| REVISION - Mm/DD/YY | 27 XXXX|APFR- MM/DD/YY




Hex Head Screw
w/ Sealing Washer

Legend
As Supplied By ATAS:
1 — ATAS FLS Panel
2 — Anchor Clips
4 — Painted Pop Rivets
Hex Head Screw 8 — Standard “"Z" Closure
W/ Sealing Washer 13 — Neoprene Closure
As Supplied By Others:
A - 30# (Minimum) Felt with Rosin Paper
A1 — 40 MIL Ice & Water Shield
B — Top of Roof Deck or Insulation
\ C — Structurals
WALL PANEL D — Trim Boards
E - #12 x 1” Wafer Head Screws
E1 — #12 x 1-1/4" Hex Head Screws
A F — Fascia Trim ( May be fabricated/supplied by ATAS upon request).
G — Appropriate anchor (screws suffi(?ently long enough to fully )penetrcte
. the solid substrate (Some types/styles available from ATAS.
FLOATING ROOF NOTE: USE ON SLOPES L - Plywood
LESS THAN 2:12. U — Butyl Tape Sealant
NOTE: REQUIRES FIXED WS — 3/8" Wood Shim
EAVE AND VALLEY. . .
* — Indicates color side.
Field Lock
Shed Ridge Detail Scale: 3" = 10"
(Floating)
ATAS INTERNATIONAL, INC.
Allentown PA
610-395-8445
Mesa AZ
480-558-7210
TITLE FLS Shed Ridge (Floating) - ply
e FLS Shed Ridge (Floating) - ply SCALE 3"=1.0"
Rev. Drawn DRAWN APPR
No. | Revision Date By Description of Revision BY DAS |DpATE 3-6-06 By JEB |DATE 6-1-06
-1- FLS Shed Ri Floati - REVISION REVISION APPR. APPR.
0 6-1-06 DAS S Shed Ridge (Floating) - ply NO. XXXX DATE MM/DD/YY v XXXX DATE MM/DD/YY




11/2"

6"
I.—>
1/2" O.H.J

2 1/2"

1.1/2" (

13/16" x

1/2" O.H.

— FLA212 GABLE "Z" CLOSURE @ — FLA210 GABLE/RAKE TRIM — USE W/FLS038

Field Lock

Ending Gable Detail Scale: 3" = 10"

7 -
1/2" O.H.
.
©
a -
* © N
0 ®
- N
o~ ~
<+
\13/16' x 5/5'_/\
1/2" O.H.
(9 - FLA213  GABLE/RAKE TRIM — USE W/FLS138 (1) - FLA211 GABLE/RAKE STARTER CLEAT —
USE W/FLC038
1
s
©
S
o]z
[5) ~
0
5/8"_/\
(1) - FLAZ14 GABLE/RAKE STARTER CLEAT —
USE W/FLC138
Legend
As Supplied By ATAS:
1 — ATAS FLS Panel
2 — Anchor Clips
4 - Painted Pop Rivets
8 - Standard “Z* Closure
9 - Gable/ Rake Cloaure Trim
10 — Gable/ Rake Starter Cleat
As Supplied By Others:
A — 304 (Minimum) Felt with Rosin Paper
Al — 40 ML Ice & Water Shield
B — Top of Roof Deck or Inaulation
¢ - Structurals
D - Trim Boards
E - #12 x 1° Wafer Head Screws
E1 — #12 x 1-1/4" Hex Head Screws
F - Fascia Trim ( May be fabricated/supplied by ATAS upon request).
G — Appropriate anchor screws sufficiently long enough to fully etrate
the solid substrate (Some types/styles available from ATAS.)Pm
K - Plain pop-—rivets or short screws — Not to penetrate the substrate.
Ty S—
- Tape Sedlal
V - Eave Plag.e

WS — Wood Shim 3/8" or 1-3/8"
* — Indicates color side.

ATAS INTERNATIONAL, INC.

Allentown PA
610-395-8445
Mesa AZ
480-558-7210
TITLE FLS Starting Gable - ply
EI\I’_VEGNN(S" FLS Starting Gable - ply SCALE 3n=q'Q"
Rev. Drawn
No. Revision Date By Description of Revision gsAWN DAS [paTe 3-6-06 Q\F(‘PR' JEB |DATE 6-1-06
0 6-1-0 FLS Starting Gable - pl REVISION REVISION APPR. APPR.
6 DAS g e - ply No. XXXX DATE MM/DD/YY By XXXX DATE MM/DD/YY




I
- 1/2"
3/8"
* = 1
N
— * \
N [ 1
~
- 3/4 1/2" 0. H
N
- FLA212 “Z‘ CLOSURE @ - FLA980 COUNTERFLASHING @ - FLA410 SIDEWALL TRIM
Legend
As Supplied By ATAS!
1 - FLSXXX Fleld Lock Seam Panel
2 - Anchor Clips
8 - ‘Z' Closure
22 - Counterflashing
23 - Sidewall Trim
As Supplied By Others:
A - 30# (Minimum) Felt with Rosin Poper
1 Al — 40 MIL Ice & Water Shield
B - Top of Roof Deck or Insulation
C - Structurals
2 D - Trim Boards
E - #12 x 1 Wafer Head Screws
A El - #12 x 1-1/4" Hex Heod Screws
G - Appropriote anchor screws sufficlently long enough to fully penetrate
= the solid substrote (Some types/styles available from ATAS.)
H - Appropriate Type Sealant
J - Painted Pop-Rivets
K - Plain Pop-Rivets - Not to penetroate the substrate.
L - Plywood
P - Wall Panel System
@ - Masonry Walls
G R - Reglets
U - Butyl Tope Sealant
L WS - Wood Shim 3/8 or 1-3/8°
Field Lock Seam Panel
Starting Rake/Sidewall Detail - scale: 3" = 10" ATAS '“LTIIERNAT'S:‘AL~ INC.
entown
plywood 610-395-8445
Mesa AZ
480-558-7210
TITLE FLS Starting Rake Sidewall -ply
El‘C’EGNNg-/ FLS Starting Rake Sidewall -ply SCALE 3"=1".Q"
Rev. Di
Nec:/, Revision Date rBa;Nn Description of Revision S\F:AWN DAS |paTe 3-6-06 é‘:PR' JEB |DATE 6-1-06
-1 FL. ing Rake Si . REVISION REVISION ) )
0 6-1-06 DAS S Starting Rake Sidewall -ply e XXXX | REVE MM/DD/YY é:‘PR XXXX S§$§ MM/DD/YY




Al Legend

Supplied By ATAS:

— ATAS FLS Panel

— Anchor Clips

— Optional Metal Seam End Plugs
— Painted Pop Rivets

— Joggle Cleat

— Valley Pan

'3

NNBRWN =
© 00

Supplied By Others:

— 30# (Minimum) Felt with Rosin Paper

— 40 MIL Ice & Water Shield

— Top of Roof Deck or Insulation

— Structurals

— Trim Boards

— #12 x 1" Wafer Head Screws

— Fascia Trim ( May be fabricated/supplied by ATAS upon request).

— Appropriate anchor screws sufficiently long enough to fully penetrate
the solid substrate (Some types/styles available from ATAS.)

— Plywood

— Butyl Tape Sealant

S — Wood Shim 3/8" or 1-3/8"

%>z

\A/ NOTE: USE ON SLOPES

OF 2:12 OR GREATER.

sSCr oamMmMmoow

FIX AT RIDGE, SHED,
HEADWALL, AND HIP.

*

— Indicates color side.

Field Lock
Valley Detail (Floating) Scale: 3" = 1'-0"

ATAS INTERNATIONAL, INC.
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

TITLE FLS Valley (Floating) - ply

DWG NO. / i ne g1
FILENO. FLS Valley (Floating) - ply SCALE =1'-0

Rev. Drawn
. DRAWN
No. | Revision Date By Description of Revision BY DAS |pATE 3-6-06 Q\F;PR' JEB | DATE 6-1-06

0 6-1-06 DAS | FLS Valley (Floating) - ply REVISION - XXXX [REVISION  MM/DD/YY | APPR- - XXXX[APPR- - MM/DD/YY




